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MODELISATION
ELASTIQUE ET ELASTOPLASTIQUE

Deux versions
- une version synthétique pour donner le cadre
- une version détaillée pour expliquer plus en détail I'origine des modeles élastoplastiques



VERSION 1: VERSION TRES ABREGEE DU DOCUMENT
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VERSION 2: VERSION DETAILLEE

(VOIR SUPPORT DE COURS SUMMER SCHOOL)



MODELISATION
CRITERE DE HOEK & BROWN



* Critere de Hoek & Brown: pour le cas des contraintes
faibles ou modeérées

Comment évaluer la résistance et déformabilité d'un massif
rocheux ?

En 1980 Hoek et Brown ont proposé un critere de rupture
permettant d'avoir des données pour les analyses nécessaires a la
conception des excavations souterraines dans les roches raides.

Il était basé a l'origine sur des analyses de la rupture fragile dans |la
matrice rocheuse (Hoek) et la modélisation de massif rocheux
fracturé (Brown).

Le critere part des caractéristiques de la roche intacte et introduit
des facteurs de réduction des propriétés basés sur les
caractéristiques des joints dans un massif rocheux.

Hoek et Brown ont cherché a relier ce critére empirique aux
observations géologiques in situ et initialement le critere se basait
sur la classification RMR proposée par Bieniawski.
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* Critere de Hoek & Brown: pour le cas des
contraintes faibles ou modérées

Le critere généralisé de Hoek-Brown est un critere de
rupture empirique qui permet d'ajuster les enveloppes
de rupture de la roche intacte (déterminées a partir des
essais de compression et triaxiaux au laboratoire) et
d'un massif rocheux fracturé a partir des observations

in situ.



Critere de Hoek & Brown: pour le cas des contraintes
faibles ou modeérées

Plusieurs révisions de ce critere

Introduction d’'un nouvel indice indice de caractérisation du
massif rocheux GSI (différents du RMR)

Il s’exprime, quelque soit sa formulation, en contraintes
effectives principales.



NT

e Pour de forts confinements

Le critere de rupture est assimilé
a une droite

e Pour des confinements faibles
a modérés

Le critere de rupture est supposé
étre parabolique (ou autre forme)

74



* Critere de Hoek & Brown: pour le cas des
contraintes faibles ou modéreées (détails par la suite)

Il est exprimé dans le plan des contraintes effectives principales

o, — 03 = VmosgRe + sRc?

Avec

* Rclarésistance en compression simple de la roche saine (obtenue
pour 3 =0);

* s:un parametre définissant le degré de fissuration (1 pour un
échantillon intact et O pour un matériau completement
granulaire) ;

* m :un parametre lié a la nature de la roche (notion de cohésion,
typiqguement de 0.1 a 5).



* Critere de Mohr-Coulomb: pour le cas de

contraintes élevées
Idem que celui des sols: c’est une droite dans le plan de Mohr

T = c+ otany

Dans le plan des contraintes principales

(05} 1\’},0'3 t+ Re

1\'p t-0712 (-WT -%-)

Re — 90 08¢
C= 07—/
1 — singp

avec

Rgue: ne prend pas en compte la forme incurvée observée expérimentalement



Il s'écrit également sous la forme

7 a
’ 7 0-3
o, = o3 + o, |\ m + s

Ccl

o =oc—u

*0,’ est la contrainte effective maximum a la rupture du massif rocheux
*0,’ est la contrainte effective minimum a la rupture du massif rocheux
*0,, est la résistance a la compression de la matrice rocheuse intacte
*m, est la valeur de la constante m de Hoek et Brown pour le massif rocheux
(défini ci-apres)
(m, est la valeur de la constante m de Hoek et Brown pour la matrice
rocheuse : roche intacte)

es et a sont des constantes adimensionnelles qui dépendent de I'état et du
degré de fracturation du massif rocheux (pour la roche intacte s = 1)

esia =1/2 le critére est parabolique 7



Le Geological Strength Index (GS/)

Le GSI : Geological Strength Index ("Indice de Résistance Géologique") est
estimé a partir de facteurs qualitatifs et quantitatifs fonction de la nature
pétrographique de la roche et de son degré de fracturation (idem autres
classifications des massifs rocheux) qui combinés vont "noter" le massif.

Les parametres du critere peuvent ensuite étre établi depuis 2002 par :

GSI — 100
Mp = Mi*€XP\53 " 14D

GSI — 100
S = exp 5—3.D
1 ~GSIy ~20/
a—0,5+g(e 15 — e 3)

D : endommagement dépendant du degré de "perturbation" auquel le
massif été soumise du fait d'utilisation d'explosifs ou de la relaxation des

contraintes. D varie de 0% a 100%.
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Déformabilité du massif

Pour ;<100 MPa

D o [(GSI— 10) /40]
E,.(GPa) = (1 _E> /100- 10

Pour 6= 100 MPa

E,,(GPa) =11 b
m( Cl)—( _E)

10[(651—10)/40]
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Modéle empirique de résistance au cisaillement de JRC-JCS

Basé sur de nombreux résultats d'essai et sur I’observation
des dommages progressifs des aspérités, Barton (1973) a
proposé que les résistances de pic au cisaillement des
joints pouvaient étre représentées par la relation empirique,

T= Gl’l tan [JRC Iog-'u(JcSIGn) + ¢r]

c, = contrainte normale effective, JRC = coefficient de
rugosité des joints, JCS = résistance a la compression des
parois du joint, et ¢, = angle de frottement résiduel drainée.




Le facteur dde sécurité peut étre calculé a partir de la relation
suivante :

_ tan(¢y, +JRC log(JCS/a")) > Z

g > X




Tutorial — supervised work

A bridge is to be constructed across a steep sided gorge cut into a massive sandstone. In order
to minimize the span a site has been chosen where one face of the gorge forms a convex
'nose'. An examination of the rock mass at this location has revealed two highly persistent dis-
continuities dipping in approximately the same direction as the main gorge face. Details of
these discontinuities are given below. Although the rock mass appears to stable, there is some
concern over the possibility of plane failure occurring on discontinuity A with the side faces of
the 'nose' acting as lateral release surfaces.

Discontinuity Dip JRC JCS (MPa)
A 35° 10 5
B 80° 5 5

The geometry of the slope is shown in the following Figure 1.
The foundations for the bridge are to be placed 2 m behind the crest of the slope. It willimpose
a 0.2 MN/m vertical load and a 0.1MN/m horizontal load (direction same as dip direction of

the slope face) on the rock mass.
The site is in an earthquake zone and the maximum likely ground acceleration determined
from previous earthquake events is 0.2g.

10m |

Discontinuity B

7

28 m

Discontinuity A

W = Self-weight of sliding block

aW = Earthquake force

U = Joint water force on sliding surface
V= Joint water force on tension crack
Pv = Vertical foundation force

Ph = Horizontal foundation force

Not drawn to scale

Figure 1: problem definition for plane failure example showing representation of forces acting on the
slope

Determine the factor of safety against sliding for the following conditions:
a) The natural slope with no foundation loading, no earthquake loading and no water in
the discontinuities
b) As (a) but after a period of prolonged rainfall.
c) As (b) but with the earthquake loading.
d) As (b) but with the foundation loading.
e) As (b) but with the foundation loading and the earthquake loading.
Assume reasonable values for any parameters not given.



Solution

The forces acting on the slope are also shown in the Figure 1. It has been assumed that during
the period of prolonged and heavy rainfall discon-tinuity B is maintained full of water and that
water drains freely along discontinuity A. A value of 30 ° is assumed for the basic angle of
friction and 25 k N/m? is assumed for the unit weight of the rock mass.

A section perpendicular to the-face and of unit width has been taken for the analysis (Figure
1). The cross-sectional area of the sliding block is 27.5m?. This was determined by drawing
the cross-section to scale

on graph paper and counting squares. The self-weight of the sliding black is 25 x 1 x 27.5 =687
kN/m.

Since a number of different force combinations are to be examined it is good practice to
resolve all the forces parallel and perpendicular to the sliding surface (discontinuity A) and
place the results in a table such as shown in Table 1. The calculations are shown in Figure 2.
The parallel and perpendicular components can now be summed for the different
combinations of forces under consideration (see Table 2). The normal stress acting on the
failure surface is required by the Barton shear strength model. This may be calculated for the
1 m wide section of slope under consideration by simply dividing the sum of the perpendicular
components (X Z) by the length of the sliding surface (L) which is 9.8 min this example. The
values of normal stress for each of the five cases considered are shown in Table 2.

The factor of safety in each case has been calculated using

_ tan(¢y, + JRClog(JCS/d")) > Z
— X

Table 1: Resolution of forces

F

Force Magnitude Parallel Perpendicular

(kN/m) component component
(kN/m) (kN/m)

Self-weight of sliding block, W 687 +394 +563

Pseudo static force representing 137 +112 -79

the earthquake loading, aW

Force V from water in 27 +25 -11

discontinuity B

Uplift force U from water in 113 0 -113

discontinuity A
Vertical foundation loading, Pv 200 +115 + 164
Horizontal foundation loading, Ph 100 +82 -57




Sign convention

.

.
.

-~ Sliding surface

Parallel Perpendicular
+ +
Self-weight of sliding block W
" Para+ W sin 35 = + 394 kN/m K
Perp + W cos 35 = + 563 kN/m
aw . Para +aW cos 35 = + 112 kN/m
35 v Perp +aW sin 35 =+ 79 kN/m
-~ 90-35=55 N AN
90-55=35 \\
Y \ , (@) \
a
w
Joint water forces Vand U Joint water forces V and U
Assume that joint B fills with water up to the ground surface
and is maintained full of water by the heavy rainfall. Assume 8
that joint A is free draining (i.e. there is a spring where the
joint outcrops in the face).
Calculate the water pressure at the intersection of v
joints A and B
V=05 xBO x 23
Imagine a standpipe =05x23x23
M whichis installed with sin 80
— the tip at the =27 kN/m
B intersection of A and B 23 KN/m2
A
Water pressure,
uvatO =y, x h, A B
(taking ,, = 10 kN/m?3)
u=10x 2.3 =23 kN/m?
hw
A
A P
- 3 _Horizonta
o é{
, A
A’ ANERN
R
X Para + 27 cos 25 = + 25 kN/m
A B Perp — 27 sin 25 =+ 11 kN/m
C,
(b) (c)

para : parallel plane, perp : perpendicular plane
Figure 2 : Resolution of forces acting on the slope parallel et perpendicular to the sliding
surface. Earthquake force aW : 0.2x687 = 137 kN/m (a — 0.2 is given)



Joint water forces Vand U

Para 0
Perp-—0-5x9-8 x23 = — 113 kN/m

23 kN/m?

()

Foundation forces Pv and Ph

Pv =200 kN/m
Ph =100 kN/m

Foundation force Py .*

’

’

/90~ 35255

\

Pv
Foundation force Ph

Ph }

(e)

Para + Pv sin 35 =+ 115 kN/m
Perp + Pv cos 35 = + 164 kN/m

90 - 55 =135

\
\
\
\

Para + Ph cos 35 =+ 82 kN/m
Perp - Pv sin 35 =-57 kN/m

Figure 2 : Continued

The sensitivity of the factor of safety to water pressure in the discontinuities and external
loads is clearly seen in Table 2. The dry slope with no external loads has a factor of safety of
1.91. The effect of filling discontinuity B with water due to prolonged and heavy rainfall has
resulted in the factor of safety dropping to 1.47. The slope is still safe, however. The
combination of an earthquake event and heavy rainfall, however, results in slope failure. The
construction of bridge results in a dangerously low factor of safety during heavy and prolonged
rainfall and failure if an earthquake occurs at the same time. This result would justify the need
to carry out a more rigorous analysis of the slope using a boundary element or finite element

approach.




Table 2 : Calculation of factor of safety for cases (a) to (e)

uotjepunoj + axenbuyyres

LLO 8% Ly = (LS = P91+ €11~ 11— 64— €9S) 8ZL= (Z8+STT+0+GT+2IT + ¥6E) +adors pajeinieg (a)
70’1 96 9¥S = (LS~ $9T + €11 — 1T — £96) 919 = (28 +GIT+ 0+ Sz +¥6¢) uonepunoj+ adofs pajernies (p)
G880 LE 09€ = (€11 = 1T — 64 — £95) 1€ = (0+ 62+ 211+ ¥6¢) oxenbyires + ados pejernieg (o)
LT'T (57 66r = (€11 — 11 — £96) 617 = (0 + ST + v6£) adots payemieg (q)
L9'T LS £95 v6e adots A1 (e)
wgE="17
ey
T(ZzX)=p
Uo1303s apim
Ajares W | UO S$S3I1)$ w/NY Z < w/NY X <

JO 10700y [PULION] sjuauodwod renotpuadiad jo wing sjuauodurod [areIRd jo wng ase))




	Page vierge
	Page vierge
	Page vierge



